Seat No.:

DIPLOMA ENGINEERING — SEMESTER - VII EXAMINATION — WINTER - 2014

Subject Code: 350606

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Subject Name: Water Resource Management

Time: Time: 10:30 am - 01:00 pm

Instructions:
1. Attempt any five questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.

Q1 ()
(b)
Q2 (3
(b)
(b)
Q3 (a)
(b)
Q3 (a)
(b)
Q4 (1)
(b)

What is the necessity of W. R. M.? Enlist the various agencies involved in
W.R.M.

Explain hydrological cycle in detail with neat sketch and also state the various
Forms of Precipitation.

Derive the ordinate of 6 hr. unit hydrograph from the observed flow of a storm
as given below. Constant base flow is 15 m*/ sec. Area of basin is 380 Km?.

Time in

Hr 0 6 | 12 | 18 | 24 | 30 | 36 | 42 | 48

Strom in
Cumecs 15 47 87 110 158 95 76 32 15

(i) Enlist the methods used to determine the mean precipitation over an area.
Explain any one.
(ii) State the factors affecting Runoff.

OR
(i) Write the assumption made in unit hydrograph.
(if) What are the ill effects of Waterlogging?

Describe the process of Sea Water Intrusion. What are the ill effects of sea
water intrusion?
What is the necessity and purpose of Artificial Recharging? State the methods
of it & explain Basin Method.

OR
What are the remedial measures to control sea water intrusion. Explain with
sketch.
State limitations and advantages of Drip Irrigation Method.

Describe different types of soil water with figure.
What do you mean by Rain Water Harvesting ? State the methods of Rain
Water Harvesting. Explain any one.

OR
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Q.5

Q.5

(a)

(b)
(a)

(b)

(a)
(b)

Define :-
(1) Aquifer (ii) Aquiclude (iii) Sp. Yield (iv) Perched Aquifer
(v) Hydrograph (vi) Hyetograph (vii) Water logging
What are the objects of water shed management?

(1) Write role of Co-operative Society in W.R.M.
(i) Define @ index and W- index.
A river basin has five rain gauge stations having annual precipitation of 900
mm, 800 mm, 540 mm, 450 mm & 410 mm. If error in computation is limited
to 10 %. Determine optimum number of rain gauge station and additional rain
gauge required in basin.
OR
(i) Write short note on People’s Participation in W.R.M.
(i) Draw the sketch of hydrograph & label the components on it.
(i) Calculate the capacity of sprinkler irrigation system in lit/sec. from the
following data given
e Rate of application of water - 7.00 cm/hr.
e Areato be covered in one setting — 10 Hectors
e No. of operating hours. — 22 hours.
e Interval between successive application of water — 10 days.
(if)Design a check dam for the data given below:
e Depth of water in U/S — 12 m.
e Sp. Gr. Of Concrete —2.4
e Max. permissible compressive stresses in Concrete — 280 t/m?
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